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(!or Scheme I & Scheme II CandidateS) 

Second Year Higher Seconcary Examination 
Part- Ill 

BUSINESS STUDIES 
Maximum : 80 Scores 

Genera/Instructions to Candidates : 

Time : 2% Hours 
Cool off time : 15 Minutes 

• There is a 'cool off time' of 15 minutes in addition to the writing time of 
2% hrs. 

• You are not allowed to write your answers nor to discuss anything with others 
during the 'cool off time'. 

• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the 

same question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non programmable calculators are not allowed in 

the Examination Hall. 

m1&<2~ UD6llBcib : 

• m1ffi1ln51US (ll)QJCW(M6)1m nJ606)QJ 15 CiJ1m1fJ '<fbl/JO 630n..Ou 6)6)So' @261150m>1ro1d%)6o. gQ"' 
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1. Identify the odd one and justify. 

a) Motivation 

b) Policies 

c) Procedure 

d) Objectives (1 Score} 

2. Span of control refers to 

a) Number of managers 

b) Period of appointment of 

manager 

c) Number of subordinates under 

a manager 

d) None of these (1 Score) 

3. As a part of implementing 

scientific management techniques 

in his institution, Mr. Aravind 

decided to conduct work study. 

For that he conduct time study, 

motion study and fatigue study. 

But he forget to conduct one 

related study. Identify it. 

(1 Score) 

4. Sonu, the newly appointed staff of 

Alpha Food Products Ltd., is given 

training in accounts, purchase, 

production and quality control 

sections in each week. Identify the 

training method. (1 Score) 
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1. GlOJ0126 m1ill'Oc:006ffiWD o.ffi®? mxXUJ 

c6:l"01c:006 db. 

a) Motivation 

b) Policies 

c) Procedure 

d) Objectives 

2. cmoem 63:Jo_Qu <£D6'if0Gllsocm cruJ..oJl;{::Jl 

c006\ffiaD Clffi (1'0) ? 

a) QJOGlm~fOQ)0(()66JS Offi6J;qo 

b) moGJmg!60661S mlcmmm 

<fu0e.JOOJCD1 

c) 63m6 moGJmg!60J,61S ro:,"J'::Plm'O 

rum6rm ~"Jrumc:OOom661S oB)~o 

d) ~ru 63cm6m~ (1 Score) 

3. @'l m10moJlm ®61~ mlOoo.Jmcvrnlm'O 
(f():Jl <w"l CQJ moGJ m ssu 61D:l <18 cru Gl s::DCOJ 60B c.iD 

mSRj1e.JOcOOJ,Iffi®l61~ @O(f)QJOC!2Jl Work 

study ms(()((l)oem ®lm6mom~. ffil0ro5lm6 
<80J6f@l mJQJC!2Jo_jOmo, ..2Je.Jm o_jOmo, 
COJ§_f0-3:J 61CQJ mJo6YlJ cru5l c006 em oJ om o 
nB)(TIJlOJ ms(()((l)l. nffiCYnOill'O g-Qarw:IlJCQJ1 
6YlJ ('(U) 6) ~ § 63 (()6 o_j 0 m 0 m s (01'0) 0 em 
m o lffi6 Gl o_j o CQJl m10 ® Clffi COJO 6l 6TYJ rm 6 
<£D616TYS(()((l)6<£D. (1 Score) 

4. ffi'©)ilfOo_O o_06ru) Gllo_JJCW~ ellm1pcu5lm'O 
o_j6®JCQJCOJOCQJ1 mlCQJmmo e.J@l-3:J Glcruom6 
rulm 63oGJmo (ffi])lf ..2JCQJ6o, ®Oc:00"'6'f'@m5 
o_j fO Gl-3:J m.r, 6) l o_j 0 cw dhl::! em' w., JO §1 Rl 
<£DoGllSOcm o.mrm"' oJlrsocn60!3§lco'3 
D:l:Jolmool o_j(()l(f()"'e.Jmo mco'3ro:,l g-Q®u 
C1ffi ®6 o_j ml (I()"' eJ m oJl rs :J (f) ®Oll co'3 61 Rj 

S6(TIJ6 ? Score) 
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5. Who among the following 

suggested need hierarchy 

theory? 

a) Henry Fayol 

b) F.W. Taylor 

c) Abraham Maslow 

d) Peter Drucker (1 Score) 

6. The first step in control process is 

a) Corrective action 

b) Fixing standard 

c) Analysing deviation 

d) Measuring actual performance 

(1 Score) ~ 
7. 'Shortage of capital leads to over 11 

capitalisation'. Do you agree with ! 
this statement ? '1 S ) ~ \ core , 

~ 
ll 

8. List out any two sales promotional :: 
~ 

activities. (1 Score) 1I 
~ 

9. Mr. Sam, working in production 
department always receive 
instructions from production 
manager only. 
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a) Which management principle 
is applicable here ? 

b) Who advocated these 

principles ? (2 Scores) 

I 

DJ6 QJ 6) s 6)cfu8S6 \6r<DI ffil <fJ6)6 rrno..J ml am 
(G'(C) Cti Cfb j (g {::@) 6ll) I crok3JX:wrm ronl516KfA 

@'(Q)(Ou? 

Maslovv 

d) Peter Drucker (1 Score) 

loJ lc&~cwcWl6'!e.J Brrn:Jm6J((f(O) 

o..J sl (IDQ)6fn ----------­

Corrective action 

actual performance 

(1 Score) 

)CD(liYblliS)ci'6 cB)60CJJ (GICuJld:b ffiJ,e.l 
c.u m ru rol' cB-6! m 611) (()(0)1 my cfh :::>mom m J 

G'LJCQ?:JC1JC(lQlCW8S ml65Br:Jb 
? Score) 

f.?.it, o CO 6'fYs" ClJl rcf6<;B m 

'](n.JXom:J()_om mlro-slcfhcfo og)'-:?6({)Jc!,cfh. 
(1 Score) 

9. ~amoJ::J(3('() oJl@J(!)(bmlam (]g)6Je.\1 

6IDJ~rrn ~I. rmJailm ~am<;BJB 
(]ffiWJrulcwlam rr~cm6m:JL<IDmJ6ITl 
ml?Ocgguo6tmr:Jb eJCslc&6)c!,ITn®. 

a) gQ<IDU r'-fB<IDU m:Jcgmf!iGJm~ m;<IDJ 

OJc!,OJJcWl6YlJcfU)GJ<;B§lc6lc&6)6rrtl6? 

b) gQ® ((j@ffi66)5 Ql:)(]ffigi'6)Ql~ 

<ID(())J60B~ am ~u:OGJ<;Bs6rrn6 ? 
(2 Scores) 



10. In a class room debate, Noushad 
argued that administration is a top 
level management function and 

Rehna argued that administration is 
a lower level management function. 

Being the moderator, how will you 

conclude the debate. Substantiate 
your answer. (2 Scores) 

11. State the limitations of 

planning. (2 Scores) 

12. Devu, the Manager of a business 
unit opined that 'control without, 
planning is meaningless.' 

a) Do you agree with Devu ? 

b) State reason. (2 Scores) 

13. "It is the process of stimulating 

subordinates to act for 

accomplishing desired goals." 

a) Identified it 

b) State its importance in 
business organisation. 

(3 Scores) 

14. Mr. Hari started an industrial unit 

in Tamil Nadu. His son Manu, 
your friend appointed as H.R. 
manager. Manu appoint 25 staff 

in different posts. Advise Manu, 
about different types of training . 

possible here. (3 Scores) 

5048 

11111111111111111 IIIII II II 1111 

10. 63ng ~~xru OJo cruoOJ:::>BCOY051afO ffiiOM 

r1ll ml cg l ~o5:1 em 63C06 ~on ((5)(0) eJ Q):)(gffi gi 
6)Q)~ (]~JeJl ((j@6)611Jffi)u m'Do5:18B6o, 
ffiiO~ ffii06)((5)Jffic!, o9:>"J4®eJ Q):)(]ffi~u 

6)Q)\@6)~ (]~:)e.Jl ffi'@6)6'ffirrr)' 6)0ruXnCQJc!,O 

OJ:::>Blc006rrn6. _ajffi~ mlCQJLmYl1c006rrn 
ffi'©c.iD O{Drrn m,leJCQJlam m1675Bcib g)2'D 
_QJCO~ o.ffi675B6iffi ffiiOOJcru:::>cr5lc;;jlcet))c!,O? 
~(O'JO)coo cru:::>WJ<£::,C01cOOc!,cfu. (2 Scores) 

i i. ffi®CIUJlCID6m(O'JO)l6J~ (]n.J::Jffi:)Cl&/cfucfb 
ln.JCW:::>o.Jld1tl;6ce:,· (2 Scores) 

12. 63 ffi6 mJl crul m cru u rru.o :::> nJ m ®'ml6i ~ 
QJJ(]ffi~OOCQJ (]BOJc!, 'ffi'©ffi)JlC0>6mr1ll 
~ 0 (O'JO) ml CQ) l ('(0) 6YD 0 mro ro ®.0 (j() J m j 
r1lJ616YDrm mrocslcn.J:::>CQJ6ic;;j§6. 

a) CZBOJc!,OJ16J~ (lliQ@-ILn.JOilliGi(Oili):::>Su 

ml675Bcib c&CQJ:::>~lc006rrn6czOJ:::> ? 

b) cfuJC06YDo o.Jl(J(lBaJJcOOc!,cfu. 
(2 Scores) 

13. cruone.Jsm:::> eJ<f'n...s:Jj60Bcfb a:msc~rrnmSlmc~ 
a: ru 6TY5l ce:, 1.; ~ C8 B j om rru.o em Q) oroceu;6 
C80J6TY5 ln.JC8...2.JOBffio mam~rm ln.JOJCO 
(OJ"TI)ffi Q)J 6ml mr 
a) ln.JOJCO(O'JO)ffio C'i.ffi6!Cwm!u 

cml colgz~ ol CQJ c!,cfu. 

b) stlncrulmcruu ms(O'J0)1~i co'D g)2®l6J~ 

ln.JJWJffijo o.JlCJOBQJJc006cfu. 
(3 Scores) 

14. o.Dcol CIDI1ll<fm:::>§1afil 63C06 uljOJcru::Jcw 
ffilD Jn.J m o @@co ocsl ~6. CITYO cg ~ oD 

(OJ"TI)l6J~ r1lcfuffic!,o ml608~6Js cruc~o.q)(OIO)c!, 

QJJCQJ r1lffic!,oJlffiHR.r1l::Ja:m~o:::>CQJ1 mlw 

r1ll~. r1lffic!,, 25 c&~::JeJlc00:::>6Jco rulrulw 

em rru.ol cfucfu@l a: eJ ~ ml Wr1ll~. ml615B 
~6)5 CIUJ,o.D0(0J"TI):)CQJ ffiffic!,OJlm g)20Jl6JS 
cru::Jw jr1l::lcfuc!,ffii nJ col uo"'eJmr1l:::>ffi~615Bcib 
Offi6i®~J6)Q)m) mlffi(g~(J(lo mm1l~c!,cfu. 

(3 Scores) 
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.. - ~.5 -~= .. :s manufacturing and 
=: ::~~ ::: ... tng plastic home 

~:::::: ances. 

::: '&\v a diagram and explain the 

'~ nctional organizational structure 

cf AB Ltd. (3 Scores) 

16. As the father of modern 
management, Henry Fayol has 

suggested some management 

principles. List out any six of them. 

(3Scores) 

17. 'Delegation of authority leads to 
inefficient superiors'. 

a) Do you agree with this 
statement? 

b) Justify your answer. (3Scores) 

18. Suppose you are appointed as 

marketing manager in S.K. 
industries. State different types 
of communications possible here. 
Explain each with its 

requirements. (4Scores) 

19. Identify the management function 
from the following statement. Also 

explain different sources of it. 
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"It is the process of searching 

for prospective employees and 
stimulating them to apply for job 

in the organisation". (4 Scores) 

15. ~:) ~1 cfu (f)~~ nD:) nJ cfu (() 6m 6()8 cfO 
~ aiTl<;tjOB1 CJ:Jl-B:f oJl ®ffi6mo 6LCl...J qm ffil 
crunonJmmo61T)' AB Ltd. 

AB Ltd. 6)~ n.OsBnS:16mam 63offiW6)6)m 
cgcrunS::l® mhsce,u~ro -2..ill®@'ID16)~ 
CIUnDO<W~@'ID:)6)S oJl (J()BJce,m1~2,cfu. 

(3 Scores) 

16. ffi'©W6m1ce, mo~m@i6)mr@6)~ ct.JlcmooJ 
nQffil m1eJWlam 6)nDMLS1 n.O~wocfb 
m1ffi~'3(}()1~ mo<2m@i6)m~ ®®J6()B~affi 

O{B61®ahleJc!p ffi'©O nQ~o nQ<:P6®6cfu. 

(3Scores) 

17. mmu5lce,om 6)6)cfuffiOR@'ID1eJJ6)S ~cmcm 
mm w1 ce,o m1 ce, cfb cru om ro ®O jffi1 ~ o @'ID 
OJ(():)<!2J1 Q):)06ffil6. 

a) gQ"D LnJcworum~wos m16()Bcfb 
~(!2):)~~6ffil6~0J:) ? 

b) ~@'mffio CIUOWJcfuffi1~6cfu. 
(3Scores) 

18. m16()Bcfb S.K. gQ<iocuxruL~m5l6)~ oJlnJ 
6mm oJl!Sowo <2mwoo.Jl ffi'@Wl mlwm1cm 
ffi:)6)<Wffil1c6lc£76)6>§. gQoJl6)S CIUOWjffiO 
cfu6ffil o.Jlo.Jlw ffi'©(J()<W o.Jlm1mwmicm1 
cfu cfb l nJ 'W:) oJl ~ 6 cfu 0 63:) <2 (():) ffil6 0 

mmciDl61~ ffi'©OJ(J()jcfu® ~006)<;tj6)S 

o.Jl(J()Bmo~6cfu. ( 4 Scores) 

19 . ..!L.J60J61S 6)cfu0S6@'ID1ffi1c£76)6ffil lnJCWO 
rumm516)eJ Q):)(gffi~u6)Q)~u wroamo 
o.ffiriD? m-0®16)~ o.Jlo.Jlw ~OoJlS6()800 
oJl (}()8Q):)~6cfu. 
" <2 ~:) efl cf}6) 6 ~OJ 6115 ffi'@ ~ cfu 6) ~ 
cfu616115~ mmOJ6)ffi ~~oeJl~ m-ro<2nJcW1l 

~3ruocm ~lnJc61CJ:J1~6ffil6." (4 Scores) 



20. Differentiate between money 

market and capital market. 

(4 Scores) 

21. Your friend, who is studying in 

Science class asked you about 

marketing and what are its 

facilitating functions. What reply do 

you give? (4 Scores) 

22. While conducting interview of 

marketing executives in 

J.L. agencies, one candidate 

replies that 'consumers have no 

right'. Do you agree with the 

candidate? Justify your answer. 

(4Scores) 

23. List out and explain various 

managerial functions to be 

performed. if you are appointed 

as marager in an organisation. 

(4 Scores) 

24. Write down the contents you have 

to include in the seminar report 

on the topic business environment 

and its classifications. 

(4Scores) 
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20. nJ61DoflnJ61D1CQ)2,o ai4eJWmru1nJ 

61D1 CQ) 6 o em a:m1 e.J2,~rujemj8cru615Bcf0 

04)6lom§?Jpo ? (4 Scores) 

21. oJ1nJ61Dmo nB)rmomn ('4)0IDU nB)Cffi6o 

®()emu ffi) '":) cfu (1) J 6) ~ s 6 (OI~wm w ro Q)'1) 

608 db nB) 6"l om~ Jo ow Cffi6 o CTUCQ)cfDm) 

ooJm5lam nJ01cOOc!,Cffi CTU2,oD~~ m160B 

~gps ~~oB1~. m160Bcro nB)mD' 

mo6nJs1 ffi(dncfuc!,o ? (4 Scores) 

22. J.L. o.@~cfDm)~)u-mn mofficOOR1oCDU 

nB)~cfu~OJ J~:eJ1cOO~ ((ffi)151ffi66l.l 

(01(5)1am nJ6"lffi:JSc!,~ 63CDc!, ~~BjJCDJffi®01 

~nJ~ISJd3{0)2c:B-::--: :._ ~.ct%J ((ffi)OJcfu:JCJ?J60BcfO 

63Cffi6o ~§: :---::'": :-'nc!, ai06nJS1 mamc£b1. 

ml60Bc~ ~-: ~:i.Lo.J:JCQJC2(01(5):JS CECQ):J~ 

cOOc!,(!f)~J:-'~: i \):XD~cfuffi1c006c£b. 

(4Scores) 

23. m1 628 6i ~ 63 ro 6 cru.o o nJ m (01(5)1 6"l ~ 

moCEm~rooCQ)1 m1CQ)m1_~~,pmn mo~m~ro 

O{J)Cffi ffile.Jm5lmn ml60Bcfb nB)6"lom~oo 

WCDILID60Bcfb ffilOCBOJR?,o nB)® oJlCJ?JBlc&.> 

ro1c006cfu. (4 Scores) 

24. 6DJ1cru1mm) nJro1cru.o1ciDlCQ)2,o ®()em16"l~ 

ru cfu(]@ B 615B ~ o nB)rm o.n n.9::l CQ)(OI(5)1 am 

63ro6 6lcrum1moro 01CE~oro~ emCilloooc006 

C2m.JJcfb m160Bcfb 04)6"lom~:Jo c&.>:JC1lj 

608cfb ((ffi)em1mn ~cfb6"l~s6(01(5)6o ? 

(4Scores) 
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26. 

"Or'i\' secu !es o:.re 

Q\ C; 

B) 

!t is the capital required 

or 

term 

Identity it. 

Explain factors it 

(8 

OR 

"Cap buclg ng is an 

important 

area a finance 

is f'v1 a.rKeti ng ? an 

essay on objectives 

marketing rnanagernent (8 

OR 

are the different components 

of marketing mix? 

significant ? 

it is so 

6J..'2J ro 1 6! cLJ $ 63 :::>on ml em u'D 
'ZJ rLJ-

0.1:)((ij)(gQ} B:Joom1 C'JlctJcrnkw1al'6 

':\)61cB)cuJ:J(0~ \0 6J . .'JJSillJcfO ffiiOffiJ,OJB1 

,££):)06§§4·, j 

'l " ·'"'"''"''l:'-'"v.v'-' ClJ(NilJ6J~SJ/~IO) 63JoD((l! 

{"\ ,~ "" "."j_ ru"l "'I OJ lnJ6TDICQJ66J::C; UJ(()Cl'ffi60f:lUu , CJOB, 

em a>l d]{)) 6 em. 

.~.~\I rvce•r> \l .-.._ ,-v;, (3l CDO.fJJ cmJ eJ 

((f@OJCJOj6013c.iO cgms1 n.ffiS6cB15J6rm 

CCDlm3 CllOJ6YYS ffiJeJWmo 

a) ~61®rm6 ®1mli1l01Cl2J6cm ? 

a3'io@6 m1ffi6Jt;?Cl2Jlce15J6rm ne.JScm 

6013 cJD ru1 CJO B m J ce15J 6 em . 

(8 Scores) 

OR 

8) o.Dlm:)('i?)m.) Clle><llm~6J(() cruo6i'L1CfLLll 

-s:JlsCll(O(O)J§_o cmjJn.J1Rm'6 61)JC'J5':'"'2 

Rl 0 (j)u ®"1 (() 6 m J en 6\ffi C!O OJ 2 6} ((! 

(1JicJCDo.f~d71i!6CTr1t,. 

cB:>Co1 w15J 6 em. ( 8 

'1 

QJJCllffi~6'JCll\f~ 6Xi~ 

~'A'~.,vv•~~v Ct8)61CIOI§'~Jo o.{j)CID 

~n.Jmjcrulce15J6cm. (8 Scores) 

OR 

C)Jln.J6mmml@l®(OY0)161eJ ne.Jscm 

6'6BCJD ~C1J ? ln.J::JW:Jffijo ClJlCJilG 

m:::>ce15J6cm. (8 Scores) 




